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1. THA-TAHh4TEE—H, G, TN |
1.1 U % — 20 3iehi o 20 TgIhicTh I & |
1.2 GUSE — T 2 3ehi It 8 7T ST YHR & T 1 |
1.3 @IS T — YA 3 3ehi 1ol 8 YT & |

1.4 @Y —YAh 5 3ohi 911 4 &9 ITHNI TH & |
2. UHE-9F H A foaehed few e B, gTeiltes TH foehed TR 7 |

Qg - F

T UfaeTiires Ael H, S=aH =~IRETe™ Ush 3Tcafteh deobieh] TATeriUIeh foeme w1 ¢d @1

o fSE 3 fgqume (stakeholders) & 3R asies Sieerar ffgq off | qaiaxfoes

it st SIfeearsti 3R SIS T18d Sl ¢@d gU, <R H 36 AW § fsug gz

3N gl IS % A1 TERAT HH b o1 qaferfors s 3 famm & fowvg w

=i (amicus curiae) 1 FIfe 6 | =i 3 sl g w snenfa fawrher

i o =mermera w1 3ifam fofa &3 o e firedt |

A Y STFUROT o IR ) F=Afefgd A 4 AT e @di g 7

(A) I e fadi <l TehTetd Hidl & 3 TR & i s T A FE wtar g |

(B) —Iafte 38 &1 < forfreh Teitgshi o &9 § 13 hidT & ST 39 AIH § 37eh! AR
T I T |

(C) —maftE, ot § foreft oft war & wfafafe & fomm Sfea geal w frsaer fomw
TR Teht =TT <h! TR LT & |

(D) =TT I had HfGETeh AHe o Fatera Fof § wgmed o 6l Tpfa § e e |

IRd H Teh I AT Ueh Sifeet guf feag § foly gan 2, 59 Fof o e uer wqe T4
2| 9 IEE uN T i fuw o & ol Iwam =mTer ST = mEar ® |
ITTBE 136 % IFATd Iy =Arrer fefeiaa gam urfi feeft fof, fesht =an smew &
Tereey st <Y forey 3TToTd € T &

(A) YA T IS Ht =TT I ARIRRTT (B)  hadd 3 AT

(C) I T =T (D) shaed =TT (tribunals)
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General Instructions :
1. The Question Paper contains 4 sections — A, B, C and D.
1.1 Section-A contains 20 Multiple Choice Questions for 20 marks.
1.2 Section-B contains 8 Short Answer Type Questions for 2 marks each.
1.3 Section-C contains 8 questions for 3 marks each.

1.4 Section-D contains 4 Long Answer Type Questions for 5§ marks each.

2. Internal choice is given in the paper. There is no overall choice.

SECTION - A

1. In a landmark case, the Supreme Court was handling a highly technical
environmental dispute involving multiple stakeholders and scientific
complexities. Given the intricate details of environmental policies and
scientific evidence, the Court appointed an amicus curiae, an expert in
environmental law and science, to assist by providing impartial
information and insights on the matter. The amicus curiae made
recommendations based on international standards, which helped the
Court in reaching its final decision. 1

Based on the concept of amicus curiae, which of the following statements
1s correct ?

(A) The amicus curiae advocates for the interests of the public and acts
as a representative for the government.

(B) The amicus curiae serves as the legal advisor to the party that
requests their assistance in the case.

(C) The amicus curiae assists the Court by providing impartial expertise
on complex issues, without representing any party in the case.

(D) The amicus curiae is only allowed to assist in cases related to
constitutional matters.

2. A High Court in India issues a verdict in a complex property dispute,
which left one party dissatisfied with the decision. The aggrieved party
now seeks to approach the Supreme Court for special leave to appeal.
Under Article 136, the Supreme Court can grant special leave to appeal
against any judgement, decree or order in any matter passed by : 1

(A) any court or tribunal in India  (B) only High Court
(C) only subordinate court (D) only tribunals

I 40 Page 3 of 24 P.T.O. I
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ARERYT (A) : s ot Tk WEAT ATl Ao AT SHAfFaal hl 3T T =A== J
21rhT GRRR T Tehdll & A1 U3 fora TehaT 7 |

T (R) : SHfed ARttt (PILs) & H1eq & Hifefss SRl o Jadq (ST
HTAT) o ToTdl =ITTER A G T w1 3R (locus standi) @ frgam
1 IR & e g |

(A) (A) 3T (R) HT T & 37 (A) 1 T Tk (R) B |
(B) (A) 3R (R) i w2l &, W (A) T Gl TEIHT (R) T # |
(©) (A)"&E, TG [R) T B |

(D) (A) e, W (R) WER |

T TSR % AT o STUY T 319 A §gd st Fsht iy @< weh 37 v |

w1 o foId Tt & HeH 1 Fmior o | o1e o ueh =i wet-uedl (Snack Vendor)

M Aol W A T H! AT A 9= 6 o T % BeH o T U Wi w@fd

fopam 3TR @t BeH o fwior o ST9R % &9 ° 319t ATt forsht 3 AT 61 10% 319 I

o 1 = fea | wig T fed 3 9= & 31ET 3R[ 1 YT & i 3T 319 s

Fge o o IR s 1 fof orar 7 | |faer s fewrat @ s w ettt

HBHHHE B ?

(A) 3T AT 1 UFATd U T FhSR & i Wel HEH S o 39 TIcl | el i
BRI BT |

(B) 319 ATk o UfsTa 1 graT T L Tehdl FAifeh Wel-AgM (FhIeT Tret) w1 famior
TSR o T o 310 W fopan mmen 7 o6 < |

(C) U 1 fed T g= % AR T B PIAH BT AT HAfeh I THT HT I
Hiftgen a=H feam o |

(D) U AW 3 B Had qe YA HEAT AR Al 3197 I8 gy =t ash o6 e
e o1 fermtor fofdte &u & 3ueh wrerg o forer foam mmm o |
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Assertion : (A) : Any public-spirited person can file petition or write
letters to court on behalf of aggrieved persons. 1
Reasoning (R): Courts have liberalized the doctrine of locus standi of

the enforcement of fundamental rights through

Public Interest Litigations (PILs).
(A) Both (A) and (R) are true and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(C) (A) 1s true, but (R) 1s false.
(D) (A) 1s false, but (R) 1s true.

Arjun, at the request of the local community leader, builds a playground
for the children in his neighborhood, spending a considerable amount of
his own money. Later, Ravi, a local snack vendor, sets up a stall near the
playground to sell snacks to children and promises to give Arjun 10% of
his profits from all sales as a token of appreciation for building the
playground. However, Ravi fails to pay Arjun the promised percentage,
and Arjun decides to take legal action to recover it. Based on contract law

principles, which of the following is correct ? 1

(A) Arjun is entitled to the percentage of profits as Ravi benefited from
his efforts in building the playground.

(B) Arjun cannot claim the percentage of profits, as the playground was

built at the request of the community leader and not Ravi.

(C) Ravi must pay Arjun the promised percentage since he made a

verbal commitment to do so.

(D) Ravi has to pay Arjun only if Arjun can prove the playground was
built specifically for his benefit.

Page 5 of 24 P.T.O. I
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Teh M IR H ek foaried oiFed o Sat 0o ) 9g o 91 924 21 78 | 39 989 6

ot 3 T 3 TehTueh A Bl R A et ¢ fean fored die ere@eent i fr | e

 SHRYT HIgA <hl h H HEH <1 T 718 | HgH o1 HHHT 8 fob Tel o SHgeRt I =ie

TGS 3T g TN TG oh TR <h ford T T SR I | o H @R |

39 AT H = U9 o 3T9ehcd oh SR H (HHRTREd § 8 S T1 heH Fel & 7

(A) T IR HIET 1 GahT ST FIC TgdT I T g RTeh Ig STHEDT AT 3R 3TH
e SR et 1 JART feRall TTRIT |

B) U = ugaH & fo Rorigr 7 7 ifes st gueh saam mfi 72 on fop 3@
31fereh =ie U5 |

(C) e Iga™ o TThcd o o1 Ig 3Tawesh 3 fob Tfaandl < el & Tt =i uge, S
frmamar g E 2 |

(D) U =R TgaH & o fier & g Fifs 357 918 1l ATeg-Tam § fokam, wot
IGeh! GUET ! eehTel his Gall &) o |

U Tftd TURIE | YeIH o fordt Tt weh Tferel T gkdtei hidT § | THNIE ¥ B fo vaat

Tt T &9 | AR &1 11§ 3R iRt 3 ot 31w <hl Tl ol B | 98 YevH TRl

qTdT | 39 3cdd o TSI ol VTHCT BHT TSdT & ifsh TSl b1 TG TFftd THRIE <

T IATHYT T |

frefaRad § @ % a1 sua TmrE O T i wgfa H 3Emean 1 gaad €9 § oo

HATE 7

(A) I8 HlIGT T T HTHAT B Fifeh T 319 TS bl YU A § e T |

(B) st & wfia yegfar G 7E 2 314 30 SEuTedT % B0 I8 e 7 |

(C) 38 wgf Faie & ifer TS A 72 It af 918 SiiehTuT shl 3 o7 |

(D) =g GfereT W 2 Rifeh Tee 1 gegr Gferer e T2 7 |

8T T BITUTHL & ST AT 1 Ush Y&l BT ol & 3T 58 319 ST H TR L el 8 |

U TR I geet ufrest Jg1 i sEAfa & fe 3@ o & SwEm et 7

UFehT-eRTSTeh 8T <! BICHTHL % &Y H HH dI <d & Ui 39 15 YT Tal hid AT I5eh]

Tgufd T& od | 481 afehT o foege S SRS i gt 7 | 39 Tl # Fefafea 7 @

% o foshed T B 7

(A) &1 BRI HRATE TE HT Hebell FITeh TTAHT 4 I8 BIZUTE 6T AM (credit) feam 2 |

(B) &1 I HIETS BT Tehcll & HAfeh IHHT BT TS TN Tferd & 3T
UFeRT = Ieh! AT b TorT SHeRT IT=NT foharn 7 |

(C) &1 S HHATS &l X el FAifeh BITUTE Ik AN § 3T ST & ford
3T o7 |

(D) &1 hadl qft B HRATE H Thcll 7 AfG I HIUIEE HATT H BIUTE
TS TeRL0T ST B |
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Ravi, at a local market, was involved in an argument with Mohan over a

disputed transaction. In the heat of the argument, Ravi suddenly pushed

Mohan forcefully, causing Mohan to stumble backward and fall. Mohan

suffered a minor injury to his back as a result of the fall. Mohan believes

that Ravi’s action was an intentional physical contact that resulted in

harm, and he is considering suing Ravi for the tort of battery.

Which of the following statements is correct regarding the tort of battery

in this case ?

(A) Ravi’s action of pushing Mohan constitutes battery, as it was an
intentional and direct application of physical force.

(B) Ravi i1s not liable for battery because the physical contact was not
severe enough to cause significant injury.

(C) The tort of battery requires that the defendant’s action must cause
permanent injury, which is not the case here.

(D) Ravi is not liable for battery because his action was a part of self-
defense act, even if there was no immediate threat to his safety.

Raj signs a contract to perform at a music festival. A few days before the

festival, Raj develops a severe illness and doctors advise him complete

rest. He misses the performance. Organisers of the event had to cut a

sorry figure as Raj’s performance was the highlight of the music festival.

Which of the given statements best describes Raj’s inability to perform at

the festival ?

(A) Itis breach of contract as Raj failed to fulfill his obligation.

(B) Itis discharge due to impossibility of performance because the illness
makes performance impossible.

(C) It i1s discharge by performance as Raj was willing to perform if he
hadn’t been 1ill.

(D) Itisbreach of contract as a health issue does not discharge a contract.

Neha, a photographer, takes a beautiful photograph of a sunset and posts it

on her personal blog. A local travel magazine uses the image without Neha’s

permission. The publishers credit Neha as the photographer but do not pay

her or seek her consent. Neha considers taking legal action against the

magazine. In this context which of the following options is correct ?

(A) Neha cannot take legal action because the magazine credited her as
the photographer.

(B) Neha can take legal action because her photograph is protected by
copyright and the magazine used it without permission.

(C) Neha cannot take legal action because the photograph was available
for the general public on her blog.

(D) Neha can only take legal action if she had registered the photograph
with a copyright office.

Page 7 of 24 P.T.O. I
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XYZ SHARSH 19k Teh hu1 forsiell UeT o & fordl e &2 sy &1 <o & 2 |

Torelt STorenTaTa fSSITe STy o HRUT STY ThTTsHh ¢ Il & TR THIY < Hesl § qi a1¢ 37

STt & | ST = GReT U o |t TR TR & 37 fEsis g it 38 HIE STHHH T

oft | STg ywTfard fameft 319 JoheTT o fofdl ShuT T JeheHT hid & |

39 T H FEfetied U | F An 7 ?

(A)  HYHT IR TE B ek T8 T STICHTRIG o |

(B) Ul Ul ®Y T IR & Tk Sl T T Tk 9 & @At g 31 g
% il ATRETE | Jehe™ g |

(C) Ut haer auft Ierh 2 afg I ey grar 8 fo6 3=iF Q9 & SR § Sdrat Fehdl
1 U I |

(D) Ut IR T & RAifeh 3T Tft grear fremi w61 JuTer foha |

A = 310 T GIHd I 3701 gW JUeRIel el (FIGH) (rate-antique vase) T

BRI o ToR IUR feam | 58 9@ st o S GiHd 39 310 U g Tt bt fomme B 3R

T §U SheTsl 36 81 8 IS H FReRL ¢ 11 8 | 576 HigH 37T hersl e ohl g

I ShEdT & Al I8 HIh! AT & ST STl & foh hersl g2 ST oh hRUT 376 98 e el L Tehal |

HTE I SRATS hi o1 U AT & | 38 I |1 B G il 1ey, ?

(A) 38 Id-gurd AR (trespass to chattels) T &1 AT ATfET Ffh FHd
ST I qF ThH U5 IS I8 I8eh UTH o7 |

(B) U IA-FUT =R T ST BT AT FAifeh Jira = foH1 3TANT o Hersr 1
TR fepaT |

(C) 38 guitgd =1 €@ (claim for conversion) T TTET Fifeh FiHd J HersT !
T Hleh 3 BN o ToT¥ et o ITANT § ot ot faa |

(D) 38 HUEH T gTaT HEAT AT FAifeh FRrd ¥ Herst et o fereest T |

Frefafaa o 9 o YRa d guid-usisstor (Property Registration) Sfsham &1 €l €9

Y o LT R ?

(A) st IR fershar foreft Tep) TnfRiep ) =t SmTftret Topd forT Tufxt eEarasti w1 3TeM -
TEH L # |

(B) TR o HrTerd 6l ot JaX (seal) o A1 fopelt Tt TRk foor@ (deed)
TTe B TershdT & Shdl bl TUfT o1 TR Y § E&T=R0T fohal ST 2 |

(C) shar o1 ferlt faferes Tordiehr (legal documentation) =t 3TTETAhdl & o
forsht ot B | et Fuft T YPTaH HET AT |

(D) wufd & w@ifted &1 g fopelt Torrta stfesrl gam foean Sirar 8, wg +8
3= fepte T8 war ST |
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A company, XYZ Corp., operates a large dam to generate electricity. Due
to an unforeseen design flaw the dam suddenly bursts, causing massive
flooding in a nearby town. The company had taken all standard safety
measures and had no knowledge of the design flaw. The affected residents
sue the company for damages.

Which of the following is applicable in this instance ?

(A) The company is not liable because the flaw was unforeseen.

(B) The company is absolutely liable because the operation of the dam is
inherently dangerous and the damages occurred regardless of the
fault.

(C) The company is liable only if it is proven that they ignored warning
signs of the flaw.

(D) The company is not liable because it followed all safety protocols.

Mohan lends his rare antique vase to his friend Sumit for a week. Instead

of returning it, Sumit accidentally drops and shatters the vase while

showing it to another friend. When Mohan asks for his vase to be

returned, Sumit apologizes but says there is nothing he can do now that

the vase is destroyed. Mohan decides to take legal action. Identify the

legal claim he should pursue ?

(A) He should file a claim for trespass to chattels because Sumit
damaged the vase while it was in his possession.

(B) He should file a claim for trespass to chattels because Sumit used the
vase without permission.

(C) He should file a claim for conversion because Sumit destroyed the
vase, depriving him of its use permanently.

(D) He should file a claim for conversion because Sumit delayed
returning the vase.

From the options given below, which statement accurately describes the

process of property registration in India ?

(A) The buyer and seller exchange property documents without involving
any government authority.

(B) The property is officially transferred from the seller to the buyer
through a government-authorised deed, affixed by a seal of the
Registrar’s office.

(C) The buyer must pay property taxes before the sale is completed —
without the need for any legal documentation.

(D) The property ownership is verified by a local official but no formal
record is kept.

Page 9 of 24 P.T.O. I
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. U9 HEEHTT % Th ¢ § Teh SIS TR0 o GRIF =AML g1 Wit i Sir=-

USaTet H Ak YHehT 3767 Hid & | I8 TTaTel ¥ YBars hid! &, TeehRi garl J&qd q1ei

WWW%@TWWWW (Forensic Test) &1 3TeW <l & | s=TE

9&1 1 gehied off SHEE I8 a1 Sifet war @ b =iy & Se-veare § Afsh

g, udiequr <t fsaerdn =l AR L Aoha & |

fer T gy # = faauor yumelt (Justice dispensation system) % SHTferd REZICH

1 T SHITTT ST ST U7 o ehiet shi feiar o1 fowar 2 |

(A) =TTt ht AR ieRT @i e 3R faes w1 ek |

(B) wW H 3fes Tl 3R T Sehicl aTen 1feh ToteE qe e i
JTferd i T I gl 8N |

(C) T 31 Gol TGHTT § Teieh i o Torl =IRITEisT 376 7wl (neutral) & T8 b |

(D) =ehiell gRT 3T9TE T8 fSHE (cross-examination) 3T 317 deh-tehl W W fsfar
HITEE |

1 Th BG Ig ¢ 1o TOH JThATCHS Il T HoR ITANH el § 3R
Teramt wer =mmefteni o wmer €Y & 91 FEhd 2 |

(A) wETes (Mediation)

(B) e 3AeTerd

(C) ¥o18 (Conciliation)

(D) =mTferER (Tribunal)

qiESHT H foretes o SRor ST facsd 3T el g™ & si9 foare oe @1 2 |
AT TTETE T G <Al &, Wy T foeed 1 weg g foh = 391 Amen 36
AT & | Theh [ 3hIegerer fotfl. ST <T@ ol ShigaRM . o A § = - o
o AR FTHT: ot ToraTel ol HTER § ST @1 ATd1 8 2

(A) arfurfses dfees

(B) darfeeh 3R JAREAT (custody) Teeh Tag

(C) Tifges 3muy

(D) uvrR faarg

YT 1 : B hl TF (opinio juris) MG AHT J2T Hl Elea fof 77 &
Tehell & |

HYT 2 : BT hl T T fovard g Fop b Hran ot R peu i RIS R |

aﬁﬁwgﬁq

(A) THIFHATER | (B) i A TTed & |

(C) U1 1 TR, WA HA 2Teras | (D) e 2TE 8, TG e 1T § |
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In a criminal trial in a country in continental Europe, the judge, Judge

Helena plays an active role in investigating the case. She questions the

witnesses, evaluates the evidences presented by the parties and orders

additional forensic test. The defense lawyer, Mr. Jameson, expresses

concern that the judge’s active involvement in the investigation may

undermine the fairness of the trial.

In the given content, identify the probable disadvantage of the justice

dispensation system that is concerning for the defense lawyer.

(A) The active role of judge would prevent delays and prolonged trials.

(B) Stronger party in the case, with more resources and expert lawyers
may not be able to influence the judges.

(C) The judge can no longer remain neutral to evaluate the case with an
open mind.

(D) Less reliance is placed on cross examination and other techniques
used by lawyers.

An advantage of 1s that there is no strict application of the
procedural laws and the disputing parties can directly interact with the
judges.

(A) Mediation (B) Lok Adalat

(C) Conciliation (D) Tribunal

Omega Builders and Delta Constructions have a dispute over project
delays. The court suggest mediation, but Omega Builders is unsure if
their case qualifies. According to the Afcons Infrastructure Ltd. vs.
Cherian Varley Construction Co. ruling, which disputes are generally
excluded from mediation ?

(A) Commercial contracts

(B) Matrimonial and Custody issues

(C) Criminal offenses

(D) Consumer disputes

Statement 1 : Opinio juris prevents unwanted general practice from
becoming customary law.

Statement 2 : Opinio juris is the belief that an action was carried out as
a legal obligation.

Choose the correct option :

(A) Both statements are correct.

(B) Both statements are incorrect.

(C) Statement 1 is correct but Statement 2 is not correct.

(D) Statement 2 1is correct but Statement 1 is not correct.

Page 11 of 24 P.T.O. I
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AN (A) : TR T[ovH HAUMET (SRA) $IU€ 3R Ied H HifcTaet o 9 H
38 U A o ford TRl sivenfes srwa i stawEehdn
SRR (AN HET) T et |

T (R) s Teh H1Y ST 3TN HifTfet s dwel T2l 2 |
(A) (A) 3R (R) T T & 37 (A) 1wl wrsisnton (R) R |
(B) (A) 3 (R) gl =&l &, T (A) 1 Tl LR (R) T 2 |
© A)@EE, R) T2 |

D) (A) eI g, (R) W& 2 |

ot fo gm-hi 4w Hfaefim shict 7 | 98 3 3tfess gafasatl (Fmashi) 1 3Mmehivd

T o ToT3 T HiehieT FANEH et T =R T @1 8 | 36 ford Frmforfaa o &

1 ST foehed & 72

(A) Tt gur AreE W ITREE e wife gehiet forr fordt ufaey & fagmom @ =
WA g |

(B) @S 3¢ (print media) ¥ FRRM Se™T |

(C) ANEH IAMT Tq IE 9, Thetal gt 3R F*hel gorere foawor o1 it =
T |

(D) fosimo & auft TaEdl & ST Fifeh gET-hm H 39 aeft & for g wreidt 2 |

ARRAT (A) : TSaAlhe-ITH-THE (Advocate-on-record) = Iadr & faa1 Th
afy rfeaed Swae =mTerd | Wl s 1 e TE B |

& (R) . Ugdihe-3TH-The (AOR) I=dH =Rme § freft g & ol
Juferfa a1 S & FHeER 2 |

(A) (A) 3T (R) HT T & 3R (A) %1 Tt TR (R) B |
(B) (A) 3R (R) S HE &, T (A) 1 F& WL (R) TE 2 |
C) (A @R, R) T™@Az |

D) (A) eI g, (R) W& 2 |
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15. Assertion: (A): The Solicitor Regulation Authority (SRA) does not

impose any formal experience requirement for
requalifying as solicitor in England and Wales. 1

Reasoning (R) : It is not possible to be a barrister and solicitor.

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(C) (A) is true, (R) is false.

(D) (A) is false, (R) is true.

16. Mei Ling is a practicing lawyer in Hong Kong. She is considering
launching a marketing campaign to attract more clients. Which of the
following is a feasible option for her ? 1

(A) Proceed with the campaign on all media, since lawyers are free to
advertise without restrictions.

(B) Proceed with the campaign on print media.

(C) Launch the campaign but exclude testimonials, success rates and
any comparative statements.

(D) Avoid all forms of advertising as it is entirely prohibited in Hong
Kong.

17. Assertion:(A): A Senior Advocate is not entitled to appear in the
Supreme Court without an Advocate-on-record. 1

Reasoning (R): Advocates-on-record are entitled to file an appearance
or act for a party in the Supreme Court.

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(C) (A) is true, (R) is false.
(D) (A) 1s false, (R) 1s true.
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18. 3g=8¢ 39-% H ffga faqumi & uftiey ¥ ffeiiad o @ S ot uifeufa Tom =

3R 3o forferes TraTeraT < ot 3qewd o fauda g ?

(A) SR JARISH T AT L @ 3T T U AT TNTHEhT ! TR faften
HETIAT YgH i 2 |

(B) rgae faftres wmst yTed 3 % ford v TEreH B9 % sreNg o safd o
faferss Tgmmar g 61 St 2 |

(C) TR gr fafaer amet d U B W &1 91t Safdd (marginalized person)
w1 fafere ufaffies wem fran s 2 |

(D) TTHR AR - 3R HHSIRT & qutferd saferaii sl =1 oIy U § Hgg st
gl

19. “YRa § Afeehisr ST sreme o T | e TEd T8 id |7
e fer T faehedl © 59k BRI ! FdTSY |
(A) 3fd Heg T W 3Ty i gy i &1 arfied 3RS (prosecution) HT 2 |
(B) SEITE U N A H1EAT o STTER =St Tet <5 TOMEon & SR W i
g |

(C) g iy fop Ot 3 3ae fopam B, AN garn Uy fogy & & ford
T 2 |

(D) et STH Sfe el (trial) I& BT 2 AT T S AT AT # |

20. HYT 1 : WIET B, G AT N B H =ARmefie 6Hi T Har g |
HYT 2 : HIE BT BT R IR o SN0 3R f=mer & fort ueh wriyomed
T AT R |
(A) THIFHFATRE |
(B) @Ml %Y TTeid & |
(C) U7 1 HEl &, T oM 2T TE 2 |

(D) HUT 2 TE 7, W HYH 1 7Ted & |
I 40 Page 14 of 24




19.

20.

|40

In light of the principles enshrined in Article 39A, which of the following
circumstances contradicts its core objective of equal justice and free legal
aid ? 1

(A) The state provides legal aid to economically disadvantages citizens
facing criminal prosecution.

(B) A wealthy individual is given legal aid despite having adequate
resources to access private legal counsel.

(C) A marginalized person is granted legal representation in a civil
matter by the state.

(D) The state facilities access to justice for those affected by socio-
economic disabilities.

“Most accused persons do not lead defence evidence in India.”
Identify the reason for this from the options given below. 1

(A) The burden to prove the offence beyond reasonable doubt is on the
prosecution.

(B) The judge decides the case on its merit according to the evidences
presented by the defence.

(C) The assertion that the accused has committed offence is sufficient to
prove the guilt by prosecution.

(D) The accused is presumed guilty at the first instance when the trial
begins.

Statement 1 : The Evidence Law helps the judges to separate the ‘Wheat
from the Chaff’. 1

Statement 2 : The function of the law of evidence is to provide a
mechanism for the investigation and trial of offenders.

Choose the correct option :

(A) Both statements are correct.

(B) Both statements are incorrect.

(C) Statement 1 is correct, but Statement 2 is not correct.

(D) Statement 2 is correct, but Statement 1 is not correct.
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gig -9

. TRk gAierT < fagerd i ¥9F i |
. G 3T 390 T T Teh! TR 3gT9 (Tech-startup) o Hg-8EATdSh & | BT & H

T TEEqUl IESET <t gUeTt THY T % IR § I [iHCTR ST % T1Y Tk
Hfegreneh STEAN g8 & | A 7 U YoheHT SRR i W IR fen Sfafer mem 3 wh
dey et urdt Y fgfer gama S gEt vati o fordt vk Tl wafems R uTed i §
TETIAT oL Hoh, Heh THIUM 1 GI1E AT | Gier TSi &1 71 3R < ST b 3G 37T
T &1 81 TR |

() et 3T 3TN gaRT 31T T ferarg wHTeT S ugwtd Y e Hif |

(1) YN T IS TS forehedt forame—ammme Jorrelt o fevrel < Bret ol siarsd |

Teh Y T HHISAT <6 37T Th {18 AHa S g < favgy TEER o Hrl died
HHETIRRI o Soote o1 1 L T 7 | |aeft o Ui it = 3iaria STaigi Tge™ &
1 ferferes ITeTfcd 8, Wol €t USiH) T bl i e @R T & |

(a) I ICTEUN I ool HLd G AUM SHITT Tehictl GRT TR 1 o Teh o1 8 gat
T H Y AT E |

YAl
(b) T ATl HRIGTE o SR Teh SFfeaerT ! Ul oi7TaT 2 fob 35eht gafahal gat
1&g &4 hl 9 @1 2 | 39 feufa § =marerd & ufd 3o saaEnfies siey o aieH
S Afereh TRl 9T TE o Tordl StRiaern w1 1 ey =nfgu ?

(a) Toferer Tame wiferstor (Fsmem) stfafrm, 2002 %1 TS 5@ |
CRE]
(b) Toreei =m farferen TaTati 1 Soeora Shifsre i fopet el 1 g S TR

TS h 37T S shl STl & |

Teh IS T HifeTeh S, Teh LR Ui THT o F1Y Teh IR hidl & | 1 A9
SO o T Ueh ATVl TTehT EideT UTed shid | 9T o Y916 & gl § 39 3 10 A
T L o o= ¢l 8 | GHT 98T hIR IX BEATeR Hid & 3T §6oh fIsare o & ST & |
Ig TohH TR ohT TR 2 90 odTsy 3T 39H SMMTHet <1 9Tl o o s&eh forferes witomy 9x
== Hif |

fereht sTae & ATTiEnt 1 Uk g gH wehi Hifi % faegy wew (<t wfiang) o o
T&dT 8 | Ush Je¥H o G $S AN S HUfd ! TohH TgaTd &, ATTITd § 14l STeid &
ST 319 T T TIFT hTd & | TeHehTI <1 e & foh d dietd 311 fa=am sged & &
AT IR T T L TR 8 | T TSR <1 STall =Eiad & 7 39 IRfeafa 3§ yra
U™ % 3TITHG 51— o A HITcTeh hiied ohH TehR AN BN & 7

(a) YRR Gfae™ 8 T Hifd Fewes Rigamdi 6 fh-al o7& fonmarsti 1 3eor@ Hif |
HYE
(b) Hifersh 3AferepT 3R AT ATHT o o= g @ A< T8 HIT |
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SECTION - B
21. Explain the principle of judicial review. 2

22. Sunil and Asha are co-founders of a tech-startup. Recently they had a
contractual disagreement with their software vendor regarding the
delivery timeline of a critical project. Sunil insisted on filing a lawsuit,
whereas Asha suggested resolution by appointing a neutral third party
who could facilitate the parties in achieving an acceptable, voluntary
agreement. Sunil agreed and their matter was resolved within two weeks. 2
(1) Identify the method of dispute resolution adopted by Sunil and Asha.

(i1) Give any two advantages of adopting alternate dispute resolution
mechanism by the parties.

23. A nation engages in human rights violations within its own borders,
including acts of genocide against a specific ethnic group. Under ergaomnes
obligations, what are the legal responsibilities of the international

community, even if there is no direct threat to neighbouring states ? 2
24. (a) Describe, citing any two examples, how the rules of advertising by
lawyers differs from country to country. 2
OR

(b) During a court proceeding, an advocate finds out that their client
intends to provide false evidence. What should the advocate do in
this situation to adhere to their professional duty toward the court

and uphold ethical standards ? 2
25. (a) State the purpose of the Legal Services Authorities (Amendment) Act
2002. 2
OR
(b) Enlist any four legal services given to any beneficiary under the
provision of free legal aid. 2

26. Jai, a business owner, enters into an agreement with Sana, a government
official. Jai promises to pay Sana ¥ 10 lakhs in exchange for her influence
in securing a lucrative government contract for his company. Both parties
sign the agreement and begin to execute it. Identify the nature of this
agreement and discuss the legal consequences for both parties involved. 2

27. A group of citizens in a city regularly engages in public protests against
government policies. During one protest, some individuals damage public
property, disrupt traffic, and use offensive language. The protestors claim
that they are exercising their right to freedom of speech and expression.

Is the claim by the protestors justified ? How do the Fundamental Duties

under Article 51A of the Constitution of India apply in this situation ? 2
28. (a) State any two key features of the Directive Principles of State Policy
in the Indian Constitution. 2
OR
(b) Give any two differences between fundamental rights and human
rights. 2
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Tqug -1
(a) “HFE 6 3hud ufshan o T o forr =merTferssT shi wadear ifa sTevTs 87 38

E HIfST |

YAl
(b) “YRCT TITL T 3TDG 50 HRIUTTRT & ~ITIITCTHT I T TG o TR 6T
T ol Hem gt @ |7
3TT=8G 50 o THHE H =ARUTIAeRT 3T BRI o ST=l ATl o JUahiohill
e W T=! I | 3=ag 50 B WIftra (Snfier) foreal <1 Suaet o1 fetfaar i

TR H =AYk 1 Tddl § INTeH hid 3 |

(a) WY UGTE (arbitral award) h8 YR T =rmTerd foffa Heet 91 3¢y %
T = EHl E 7
YT
(b) e ATERLYAT <6l foRdT3T 1 Seoig KIS |

ard 1 fafer wraes Tan = et 9 o918t 3feed @ o 99 faehedl &1 ad1 9 @
2 | T sl Suctey W8 foredl o 379l w1 foedr & 9T Si&l 98 319 faftes iva
1 IYAN L Hhal B |

T ged -TaTeH] Hfeet s | for foreft it & o 1ot 3 20 A 6l iy i
3T A TSl ! BEATNA i < HIRgeh $os1 e i |

IHHT GO G 3T S 36 Y T TS HIAT 3 @ 2 T I T H g BT
=TgdT1 B ifsh 98 39 4 %1 I (incharge) &1 8 | 36 et Ush weiE off v
31 <1 Ee € g yftr wligd o o1 & 6 erehe Rt 7 |

3 uifeafaa o guf geaaor tffram, 1882 o 3uden & 31efi fpd wuta s&amawo
%I B R ?

IR T T g o STMUR W A ATl o ol s g1 SAHaT 91d sargy |

(a) 39 wifafss Hepr 1 AW Sdrsd et T8 o (Fguu Tehum 3R =)
srfufem, 1974 % 3iaria fon o o | 58 Fehr @ foRd ST ATt &1 g
%1 FATEY |

AYAT
(b) TITHEM HTYUM-T, 1972 % Hexd W ==l hifor | TIha™ =Nun-ua, 1972 3R
geef} fRreR-ame, 1992 o o= de4 i 9d1gd |
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SECTION - C

(a) “Independence of judiciary is vital for the respect of due process of

law.” Elaborate.
OR

(b) “Article 50 of the Constitution of India directs the State to take steps
to separate the judiciary from the executive.”
In light of Article 50, discuss the importance of the separation of
powers between the judiciary and the executive. State any two
provisions enumerated in Article 50 that contribute to the
independence of the judiciary in India.

(a) How 1s an arbitral award both similar and different from a court
pronounced judgement or order ?
OR
(b) State the features of ad-hoc arbitration.

Riya, a law graduate in India, is exploring career options in Law beyond
court room practice. Explain any three such opportunities available to
Riya. How can she apply her legal skills in these fields ?

Mrs. Kapoor, an elderly landowner, verbally expressed her wish to
transfer her agricultural land worth ¥ 20 Lakhs to her son Raj without
any legal documentation.

Her other son Aman, who has been managing the land wants it to be
transferred in his name as had been incharge of the land.

Additionally, a neighbour, Mr. Sharma, offers Aman money to buy the
land directly.

In the given situations, who has the right to Transfer the Property under
the provisions of Transfer of Property Act (TPA) 1882 ? State any two
essentials for a valid transfer based on the scenario given above.

(a) Name the statutory body that was constituted under the Water
(Prevention and Control of Pollution) Act, 1974. State the two
principal functions to be performed by this body.

OR

(b) State the significance of the Stockholm Declaration, 1972. Establish
the relationship between Stockholm Declaration, 1972 and Earth
Summit, 1992.
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. afzaes FFeTiERR SO-T (UDHR)  fobt wecaret fgerdt o &atan & ¢ 8 3 @

fohH JehT T < AP, ST 3T U o SR Joli sl Teid hid & ?

. T[RRI AR 78 H 3 foheii a8 Rte < 2 fob 3ok Ay srcaferes i qug 37k

TS T b TRl T&H Hed SR SRS U fobdl ITd & | F® 7 g oft sramn fob
T WIS 3T STEEIR TE-He i fafeai & ar § 37eht frpreml W w5
IS SO/ I &I el e 51 @1 2 | 39 UPiE e 1 sasy o um s6eh]

TRreprerd < ST Eeh | 98 THepT ford TehR foheTRi o HATEERI o Iooterd bl gL Thdl 8 71 + 2

Wl 3“7l 389 (Glow Essence)” ATH® Th Higd ¢@ITA SIS & <l 3R 3T
I ST 3cATal <hl URTehIT Shl | Teh T o ITET 38k SIS A 31T TJUaT 3TR STehfceh
@Al (ingredients) % foTdl TRTIRIAT ITwd 1 | TG T&T I Ig Tdl ohT foh TH & 1
Y T gl HUT " UM o = @I 3cTg o @l 8 s areehl | um 9T &
TET® | 35 3 S11S <hl UTST b1 T TETT | Th HIT ferRINg & THe] i 9 &al
1 UdT o foh “Glow Essence” Ush 28 (SATITNH) TM 2 3R ¢S T (SR forg) =&t
B | IH USfieRtor fshan & < |

() ¢S M 3 IS ATeh o o1 I ey |

(i) 39 9Td &I ¥ HI 6 & 389 “Glow Essence” & GSHohU T W&l i Hd

AW B E |

Qg - ¥
(a) Wifg® HUG S H MR MuRAm (Trade Secrets) i TEURUT I TIE
HIC | YA B S STrTa IR Moar s e 5 T faftes wwee w
==t HIfT | 3G (duration) 3 fIER (scope) %ﬁaﬁﬁ%wwmﬁﬁzﬁ
M HfTgE A FA = E 7
YT
(b) T FIR a: & FloeR T8 2 | 36 U B o (o 3¢ $© AFCUS! I T HEAT
=nfee | forear Hifse |
(a) T faftes Tar wiftesor (NALSA) fafem, 2010 % 3farid S9ct—aehietl o =39
% gR ¥ 9 fe 7 weAt & IR e
() U T e e o o feneft tfiererr 1 i =i mufies sewsha
T T =Ry ?
() 3= = foftes e afufa & o AfEeast = 99a ¥ @y 9 9291
@éWW(composition)aﬁﬁal
(ii) Ter uftfeufaat @ Uaet & forefl aehict o1 foreft ool B gerT ST oehaT @ 7
(v) faferr Tar arferror gamn e foreft aftg Jrfereaer i Ao f ST gt 2 2

(2+1+1+1)

YT
(b) ‘THFL HETEAT Waﬁw SIS | Seh STt STt o fo Fordl T TEwrT S
T FI AUl & 7 YRR dfqe § 37 3uaen W= Hiv g vra §

I TErIdT o fafir= usei & for amt wered fRan 2 | (1+1+3)
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What are the key principles outlined in the Universal Declaration of
Human Rights (UDHR) and how do they reflect the foundational values of
human dignity, freedom and equality ? 3

In a juveniles custodial home, several juveniles report being subject to
harsh disciplinary measures, including excessive physical punishment
and prolonged isolation. Some also mentioned that their complaints about
inadequate food and unsanitary living conditions are being ignored by the
school administration. Identify the national body which can be
approached. How can this body address the violation of the rights of
juveniles ? 1+2

Sneha started a beauty care brand called “Glow Essence”, offering organic
skin care products. Within a year her brand gained popularity for its
quality and natural ingredients. However, Sneha discovered that another
company was selling low quality skin care products under the similar
name leading to confusion among customers. This damaged her brand’s
reputation.

On consulting a legal expert Sneha learned that “Glow Essence” is a trade
name and not a trade mark. She initiated the registration process. 3

(1)

Differentiate between a trade name and a trade mark.

(11) Explain, how registration of “Glow Essence” benefit Sneha.

(a)

(b)

SECTION -D

Explain the concept of ‘trade secrets’ in intellectual property law.
Discuss the legal protection provided to trade secrets under Indian
law. How do these protections differ from patents and copyrights in

terms of duration and scope ? 5
OR

All agreements per se are not contracts. They must meet certain

criteria to qualify as such. Elaborate. 5

With regards to the selection of panel lawyers under the NALSA

Regulations, 2010, answer the questions given below;

(i) Mention the basic requirement an advocate must fulfil to be
considered for empanelment.

(1) State the composition of the selection board for empanelling
advocates for High Court Legal Services Committee.

(i11) Under what circumstances can a panel lawyer be removed from

any case ?
(iv) When can the services of a Senior Advocate be availed by the
legal services authorities ? (2+1+1+1)

OR
Explain the term ‘legal aid’. Why is it important for every legal
system to provide for legal aid ? Discuss the provisions in the Indian
Constitution that have paved way for the various provisions of legal
aid in India. (1+1+3)
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e 3R TeEifEn ¢un & off" Jor T8 W u sy i % I faerg 9@ w7 ek
TR 9 I HHel SaUs =mrer (1CJ) | weqa foham 8 | e &1 @ & fop v &
et B g =merer & fUee foii &1 g@d gu fok foren s =nfee, sefs
T ST % T3 AR TSR ¢ &1 8 | P =ATrerd -§iafy &1 37g=eg 59, 38
3N 3=Dg 38(1) 39 A § TS & i w1 foha yebm wemfera st 7 gaeht
Torgeror it |

Teh A ATTheh TSTeK ot forsh 319 UohnT Wfied | Ueh TesiTed Tgfedi Jamdn 311 @l
8 | T % WY Iqeh HIUEN H geier Bl 8 AR 36 3R 31fere Sifewi & @y o<
UTIISHISAT b1 FATe I[E L [GAT | STET 98 3T THHTH TH dTet hRISR o Jae i
AT 1 M o T & T8 98 9 Afdara g < aR 4 fafaa off g 6 w8 39
Td A &1 SR | 379 R <hl Tt W Tkl 319 TRIea bl Tl ohid 3T 3794 HRIER
S fervararftarT s gurA o ford 3199 SHRIER @1 bt safdd st (OPC) H uitafad s
W foram @R |

‘o"‘TﬁEH A & TUR W Tohed W@ (Sole Proprietorship) 3T Uehel safad o
(One Person Company) % = o1 ShIfT | fohd TR 3T SRS €9 (business

entity) Tershn < fordl sgaw gnm i ?
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The countries of Novara and Elderia are in a dispute over the construction
of a dam on the river Nelara — with Elderia bringing the case to the
International Court of Justice (ICJ). Novara argues that past ICJ rulings
in similar cases should guide the decision, while Elderia insists on a fresh
interpretation of the law. Analyze how Articles 59, 38 and 38(1) of the

Statute of ICJ would influence the court’s decision-making in this case.

Vikram, a skilled graphic designer, has been running his design studio as
a sole proprietorship. Over time, his business has grown, and he started
handling larger projects with higher risks. While he enjoys the simplicity
of managing his sole proprietorship, he is worried about his personal
liability if something goes wrong. On the advice of his friend, Vikram is
considering converting his business into a One Person Company (OPC) to
limit his liability and improve his business’s credibility.

Based on the above case, compare Sole proprietorship and One Person
Company (OPC). Which form of business entity would be better for
Vikram and why ?
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